

ON A CLASS OF ANALYTIC MULTIVALENT FUNCTIONS INVOLVING HIGHER-ORDER DERIVATIVES

Zainab H. Mahmood , Kassim A. Jassim and Buthyna N. Shihab
 Department of Mathematics/College of Education for Pure Science/ Ibn – Al
 – Haitham / University of Baghdad / Baghdad/Iraq
 zainab_hd@yahoo.com

Department of Mathematics / College of Science / University of Baghdad/ Baghdad/Iraq
 kasimmmathphd@gmail.com

Department. of Mathematics/College of Educationfor Pure Science/ Ibn – Al – Haitham / University of Baghdad / Baghdad/Iraq.
 dr. buthyna@yahoo.com

Abstract

In this paper, we get some interesting geometric concepts of the class of multivalent functions involving higher order derivatives defined on the open unite disk U. We obtain some interesting properties, like , coefficient inequalities, distortion and growth property , closure property, radius of stalikness and radius of convexity and hadamard product .

Keywords: Analytic , Multivalent , higher order derivatives.

1.Introduction.

Let $S_p(n)$ denoted the class of analytic functions:
 $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ ($p, n \in \mathbb{N} = \{1, 2, 3, \dots\}$) ... (1.1),
 are p -valent in unit disc $U = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$. Let $T_p(n)$ denoted the subclass of $S_p(n)$ of the following form:

$$f(z) = z^p - \sum_{k=p+n}^{\infty} a_k z^k \quad (a_k \geq 0) \dots \dots (1.2)$$

We note that $T_p(1) = T_p$.

For all $(z) \in S_p(n)$, we have

$$f^{(m)}(z) = \delta(p, m)z^{p-m} + \sum_{k=p+n}^{\infty} \delta(k, m)a_k z^{k-m} \quad (1.3)$$

Where

$$\delta(i, j) = \frac{i!}{(i-j)!} = \begin{cases} i(i-1)(i-2) \dots (i-j+1) & j \neq 0 \\ 1 & j = 0 \dots \dots (1.4) \end{cases}$$

Aouf [1] introduced and studied the class $T_p^*(\lambda, l, \alpha, \beta)$ consisting of functions $f(z) \in S_p(n)$ which satisfies:

$$\left| \frac{A \left\{ \frac{f'(z)}{z^{p-1}} - p(p-1) \right\}}{B \left\{ \frac{f'(z)}{z^{p-1}} - p(p-1) \right\} + \lambda(1-\alpha)} \right| < (l-\beta) \dots \dots (1.5)$$

Where $0 < B \leq 1, A \geq 0, \lambda > 0, 0 \leq \alpha < 1, 0 < l < B < 1, p \in \mathbb{N}$ and $z \in U$.

Let $S_n(p, q; A, B, \lambda, \alpha, l, \beta)$ be the subclass of $S_p(n)$ consisting of functions $f(z)$ of the form (1.1), and satisfying the analytic criterion:

$$\left| \frac{A \left\{ \frac{f^{(q+2)}(z)}{\delta(p-2, q)z^{p-q-2}} - p(p-1) \right\}}{B \left\{ \frac{f^{(q+2)}(z)}{\delta(p-2, q)z^{p-q-2}} - p(p-1) \right\} + \lambda(1-\alpha)} \right| < (l-\beta) \dots \dots (1.6)$$

Where $0 < B \leq 1, A \geq 0, \lambda > 0, 0 \leq \alpha < 1, 0 < l < B < 1, p \in N_0 = \mathbb{N} \cup \{0\}$ and $p > q$

Further, let

$$T_n^*(p, q; A, B, \lambda, \alpha, l, \beta) = S^*(p, q; A, B, \lambda, \alpha, l, \beta) \cap T_p(n) \dots (1.7)$$

For suitable choices of $n, p, q, A, B, \lambda, l, \alpha$ and β we obtain the following subclasses:

- (i) $T_1^*(p, 0; A, B, \lambda, \alpha, l, \beta) = P_p^*(A, B, \lambda, \alpha, l, \beta)$ (Aouf[1]);
- (ii) $T_1^*(1, 0; A, B, \lambda, \alpha, l, \beta) = P^*(A, B, \lambda, \alpha, l, \beta)$ (Gupta and Jain[2])
- (iii) $T_1^*(p, 0; A, B, \lambda, \alpha, l, 1) = F_p(A, B, \lambda, 1, l, \alpha)$ (Lee et al[3])

Also, we note that :

$$T_n^*(p, q; A, B, \lambda, \alpha, l, 1) = T_n^*(p, q; A, B, \lambda, \alpha, l) = \left\{ f \in T_p(n) : \text{Re} \left(\frac{f^{(q+2)}(z)}{\delta(p-2, q)z^{p-q-2}} \right) > \alpha, 0 \leq \alpha < p \right\}$$

2.Coefficient inequalities

We assume throughout this paper that $0 < B \leq 1, A \geq 0, \lambda > 0, 0 \leq \alpha < 1, 0 < l < B < 1, p \in N_0 = \mathbb{N} \cup \{0\}$ and $p > q$ and $\delta(i, j) (i > j)$ is defined by (1.4).

theorem 1. A function $f(z)$ of the form (1.2) is in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ if and only if $\sum_{k=p+n}^{\infty} [A + B(l - \beta)]k(k - 1)\delta(k - 2, q)a_k \leq \lambda(l - \beta)(1 - \alpha)\delta(p - 2, q) \dots (2.1)$

Proof. Assume that the inequality (2.1) holds true , then $|A \{f^{(q+2)}(z) - p(p - 1)\delta(p - 2, q)z^{p-q-2}\} - (l - \beta) |B \{f^{(q+2)}(z) - p(p - 1)\delta(p - 2, q)z^{p-q-2}\} + \lambda(1 - \alpha)\delta(p - 2, q)z^{p-q-2}|$

$$= |A\{\delta(p, q + 2) z^{p-q-2} + \sum_{k=p+n}^{\infty} \delta(k, q + 2) a_k z^{k-q-2} - p(p-1)\delta(p-2, q) z^{p-q-2}\} - (l-\beta)B\{\delta(p, q + 2) z^{p-q-2} + \sum_{k=p+n}^{\infty} \delta(k, q + 2) a_k z^{k-q-2} - p(p-1)\delta(p-2, q) z^{p-q-2}\} + \lambda(1-\alpha)\delta(p-2, q) z^{p-q-2}|$$

We have $\delta(p, q + 2) = p(p-1)\delta(p-2, q)$ then
 $= |A\{p(p-1)\delta(p-2, q) z^{p-q-2} + \sum_{k=p+n}^{\infty} k(k-1)\delta(k-2, q) a_k z^{k-q-2} - p(p-1)\delta(p-2, q) z^{p-q-2}\} -$

$$(l-\beta)B\{p(p-1)\delta(p-2, q) z^{p-q-2} + \sum_{k=p+n}^{\infty} k(k-1)\delta(k-2, q) a_k z^{k-q-2} - p(p-1)\delta(p-2, q) z^{p-q-2}\} + \lambda(1-\alpha)\delta(p-2, q) z^{p-q-2}|$$

then
 $= |A \sum_{k=p+n}^{\infty} k(k-1)\delta(k-2, q) a_k z^{k-q-2} - (l-\beta)B \sum_{k=p+n}^{\infty} k(k-1)\delta(k-2, q) a_k z^{k-q-2} + \lambda(1-\alpha)\delta(p-2, q) z^{p-q-2}|$

$$\leq \sum_{k=p+n}^{\infty} [A + B(l-\beta)](k(k-1)\delta(k-2, q) a_k |z|^{k-q-2} - \lambda(1-\alpha)(l-\beta)\delta(p-2, q) |z|^{k-q-2}$$

$$= \sum_{k=p+n}^{\infty} [A + B(l-\beta)](k(k-1)\delta(k-2, q) a_k \leq \lambda(1-\alpha)(l-\beta)\delta(p-2, q)$$

Conversely, assume that $f(z) \in T_n^*$
 $(p, q, A, B, \lambda, \alpha, l, \beta)$ thus

$$\left| \frac{A\{f^{(q+2)}(z) - p(p-1)\delta(p-2, q)z^{p-q-2}\}}{B\{f^{(q+2)}(z) - p(p-1)\delta(p-2, q)z^{p-q-2}\} + \lambda(1-\alpha)\delta(p-2, q)z^{p-q-2}} \right|$$

=

$$\left| \frac{A\{\delta(p, q+2)z^{p-q-2} + \sum_{k=p+n}^{\infty} \delta(k, q+2) a_k z^{k-q-2} - p(p-1)\delta(p-2, q)z^{p-q-2}\}}{B\{\delta(p, q+2)z^{p-q-2} + \sum_{k=p+n}^{\infty} \delta(k, q+2) a_k z^{k-q-2} - p(p-1)\delta(p-2, q)z^{p-q-2}\} + \lambda(1-\alpha)\delta(p-2, q)z^{p-q-2}} \right| < \delta(p, m) r^{p-m}$$

$l - \beta$.

We have $\delta(p, q + 2) = p(p-1)\delta(p-2, q)$ then

$$\left| \frac{A \sum_{k=p+n}^{\infty} k(k-1)\delta(k-2, q) a_k z^{k-q-2}}{B \sum_{k=p+n}^{\infty} k(k-1)\delta(k-2, q) a_k z^{k-q-2} + \lambda(1-\alpha)\delta(p-2, q) z^{p-q-2}} \right| < l - \beta$$

Since $Re(z) \leq |z|$ for all z , we get

$$Re \left| \frac{A \sum_{k=p+n}^{\infty} k(k-1)\delta(k-2, q) a_k z^{k-q-2}}{B \sum_{k=p+n}^{\infty} k(k-1)\delta(k-2, q) a_k z^{k-q-2} + \lambda(1-\alpha)\delta(p-2, q) z^{p-q-2}} \right| < l - \beta \dots \dots (2.2)$$

Taking values of z on the real axis then $\frac{f^{(q+2)}(z)}{\delta(p-2, q)z^{p-q-2}}$ is real then, upon cleaning the denominator in (2.2) and putting $z \rightarrow -1$, we get the desired result.

Corollary 1. Let the function $f(z)$ defined by (1.1) be in the class T_n^* $(p, q, A, B, \lambda, \alpha, l, \beta)$ then

$$a_k \leq \frac{\lambda(1-\beta)(1-\alpha)\delta(p-2, q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2, q)}$$

Sharpness is hold for

$$f(z) = z^p - \frac{\lambda(1-\beta)(1-\alpha)\delta(p-2, q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2, q)} z^k,$$

$(k \geq n + p, n \in N)$

3. Distortion property

theorem 2. Assume function $f(z)$ is defined by (1.2) be in the class T_n^* $(p, q; A, B, \lambda, \alpha, l, \beta)$ then $|z| = r < 1$ we have

$$(\delta(p, m) - \delta(p + n, m) \frac{\lambda(1-\beta)(1-\alpha)\delta(p-2, q)}{[A+B(l-\beta)](p+n)(p+n-1)\delta(p+n-2, q)} r^m) r^{p-m} \leq |f^{(m)}(z)| \leq \{ \delta(p, m) + \delta(p +$$

$$n, m) \frac{\lambda(1-\beta)(1-\alpha)\delta(p-2, q)}{[A+B(l-\beta)](p+n)(p+n-1)\delta(p+n-2, q)} r^m \} r^{p-m} \dots \dots (3.1)$$

The result is sharp for the function $f(z)$ given by

$$f(z) = z^p - \frac{\lambda(1-\beta)(1-\alpha)\delta(p-2, q)}{[A+B(l-\beta)](p+n)(p+n-1)\delta(p+n-2, q)} z^{p+n} \dots \dots (3.2)$$

Proof. By theorem 1, we have

$$[A + B(l-\beta)](p+n)(p+n-1)\delta(p+n-2, q) \sum_{k=p+n}^{\infty} a_k \leq \lambda(l-\beta)(1-\alpha)\delta(p-2, q) \leq \sum_{k=p+n}^{\infty} [A + B(l-\beta)]k(k-1)\delta(k-2, q) a_k \leq \lambda(l-\beta)(1-\alpha)\delta(p-2, q) \dots \dots (3.3)$$

That is

$$\sum_{k=p+n}^{\infty} a_k \leq \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2, q)}{[A + B(l-\beta)]k(k-1)\delta(k-2, q)} \dots \dots (3.4)$$

From (1.3) and (3.4)

$$|f^{(m)}(z)| \geq \left\{ \delta(p, m) r^{p-m} - r^{p+n-m} \delta(p + n, m) \sum_{k=p+n}^{\infty} a_k \right\} + n, m) \frac{\lambda(1-\beta)(1-\alpha)\delta(p-2, q)}{[A+B(l-\beta)](p+n)(p+n-1)\delta(p+n-2, q)}$$

$$\geq \left\{ \delta(p, m) - \delta(p + n, m) \frac{\lambda(1-\beta)(1-\alpha)\delta(p-2, q)}{[A+B(l-\beta)](p+n)(p+n-1)\delta(p+n-2, q)} r^n \right\} r^{p-m} \dots \dots (3.5)$$

and

$$|f^{(m)}(z)| \leq \left\{ \delta(p, m) r^{p-m} + r^{p+n-m} \delta(p + n, m) \sum_{k=p+n}^{\infty} a_k \right\} \leq \left\{ \delta(p, m) r^{p-m} + r^{p+n-m} \delta(p + n, m) \frac{\lambda(1-\beta)(1-\alpha)\delta(p-2, q)}{[A+B(l-\beta)](p+n)(p+n-1)\delta(p+n-2, q)} r^n \right\} r^{p-m} \dots \dots (3.6)$$

The proof of theorem 2 is done.

Putting $m=0$ in previous theorem 2, we get the following corollary

Corollary 2. Assume function $f(z)$ is defined by (1.2) be in the class T_n^* $(p, q; A, B, \lambda, \alpha, l, \beta)$ then

$$|z| = r < 1$$

$$|f(z)| \geq \left\{ 1 - \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]\delta(p+n,q+2)} r^n \right\} r^p \dots \dots (3.7)$$

and

$$|f(z)| \leq \left\{ 1 + \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]\delta(p+n,q+2)} r^n \right\} r^p \dots \dots (3.8)$$

The result is sharp.

Putting $m = 1$ in previous Theorem 2, we get

Corollary 3. Assume function $f(z)$ is defined by (1.2) be in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ then $|z| = r < 1$ we have

$$|f'(z)| \geq \left\{ p - \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]\delta(p+n,q+2)} r^n \right\} r^{p-1} \dots \dots (3.9)$$

and

$$|f'(z)| \leq \left\{ p + \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]\delta(p+n,q+2)} r^n \right\} r^{p-1} \dots \dots (3.10)$$

The result is sharp

Remark : Taking $q = 0$ and $n = 1$ in Corollaries 2 and 3 we obtain the result obtained

by Aouf [3, theorem 2]

4. Radius of Starlikeness and Radius of convexity

Theorem 3. Assume function $f(z)$ is defined by (1.2) be in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ then $f(z)$ is p -valent close to convexity of order η ($0 \leq \eta \leq p$) in $|z| \leq r_1$ where

$$r_1 = inf \left\{ \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]\delta(p+n,q+2)} \right\}^{\frac{1}{k-p}} \quad (k \geq n+p, p, n \in N) \dots \dots (4.1)$$

The result is sharp, the extremal function given by (2.4).

Proof : we must show that

$$\left| \frac{f'(z)}{z^{p-1}} - p \right| \leq p - \eta \quad \text{for } |z| \leq r_1 \dots \dots (4.2)$$

where r_1 is given by (4.1). Indeed we find from (1.2) that

$$\left| \frac{f'(z)}{z^{p-1}} - p \right| \leq \sum_{k=p+n}^{\infty} k a_k |z|^{k-p}$$

Thus

$$\left| \frac{f'(z)}{z^{p-1}} - p \right| \leq p - \eta$$

If

$$\sum_{k=p+n}^{\infty} \left(\frac{k}{p-\eta} \right) a_k |z|^{k-p} \leq 1 \dots \dots (4.3)$$

By theorem 1, (4.3) will be hold if

$$\left(\frac{k}{p-\eta} \right) |z|^{k-p} \leq \left(\frac{[A+B(l-\beta)]k(k-1)\delta(k-2,q)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} \right)$$

Then

$$|z| \leq \left(\frac{[A+B(l-\beta)]k(k-1)\delta(k-2,q)(p-\eta)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} \right)^{\frac{1}{k-p}} \dots \dots (4.4)$$

The result is follow from (4.4)

Theorem 4. Assume function $f(z)$ is defined by (1.2) be in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ then $f(z)$ is p -valent starlikeness of order η ($0 \leq \eta < p$) in $|z| \leq r_2$ where

$$r_2 = inf_{k \geq n+p} \left(\frac{[A+B(l-\beta)]k(k-1)\delta(k-2,q)(p-\eta)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} \right)^{\frac{1}{k-p}} \dots \dots (4.5)$$

The result is sharp the extremal function given by (2.4)

Proof. We must show that

$$\left| \frac{zf'(z)}{f(z)} - p \right| \leq p - \eta \quad \text{for } |z| \leq r_2 \dots \dots (4.6)$$

where r_2 given by (4.5). From definition (1.2) that

$$\left| \frac{zf'(z)}{f(z)} - p \right| \leq \frac{\sum_{k=n+p}^{\infty} (k-p)a_k |z|^{k-p}}{1 - \sum_{k=n+p}^{\infty} a_k |z|^{k-p}}$$

Thus

$$\left| \frac{zf'(z)}{z^{p-1}} - p \right| \leq p - \eta$$

If

$$\sum_{k=n+p}^{\infty} \left(\frac{k-\eta}{p-\eta} \right) a_k |z|^{k-p} \leq 1 \dots \dots (4.7)$$

By using theorem 1, (4.7) will be true if

$$\left(\frac{k-\eta}{p-\eta} \right) |z|^{k-p} \leq \left(\frac{[A+B(l-\beta)]k(k-1)\delta(k-2,q)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} \right)$$

$$|z| \leq \left(\frac{[A+B(l-\beta)]k(k-1)\delta(k-2,q)(p-\eta)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)(k-\eta)} \right)^{\frac{1}{k-p}} \quad k \geq n+p, n \in N \dots \dots (4.8)$$

Corollary 4. Let the function $f(z)$ defined by (1.2) be in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ Then $f(z)$ is p -valent convex of order η ($0 \leq \eta < p$) in $|z| \leq r_3$, where

$$r_3 = inf_{k \geq n+p} \left\{ \frac{[A+B(l-\beta)]p(p-1)\delta(k-2,q)(p-\eta)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)(k-\eta)} \right\}^{\frac{1}{k-p}}$$

Sharpness is hold, with the extremal given by (2.4).

5. Closure theorems

Theorem 5. Let $\mu_j \geq 0$ for $j = 1, 2, \dots, m$ and $\sum_{j=1}^m \mu_j \leq 1$, if function Body Math $f_j(z)$ defined by

$$f_j(z) = z^p - \sum_{k=p+n}^{\infty} a_{k,j} z^k \quad (a_{k,j} \geq 0, j = 1, 2, \dots, m) \dots (5.1)$$

are in the class $T_n^*(p, q; A, B, \lambda, \alpha, l, \beta)$ for $j = 1, 2, \dots, m$ then the function $f(z)$ defined by

$$f(z) = z^p - \sum_{k=p+n}^{\infty} \left(\sum_{j=1}^m (\mu_j a_{k,j}) z^k \right) \dots \dots (5.2)$$

Is also in the class $T_n^*(p, q; A, B, \lambda, \alpha, l, \beta)$

Proof :

Since $f_j(z)$ is in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ then by theorem 1 that

$$\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)a_{k,j} \leq \lambda(l-\beta)(1-\alpha)\delta(p-2,q) \dots \dots (5.3)$$

For every $j=1, 2, \dots, m$ Hence

$$\begin{aligned} & \sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q) \left(\sum_{j=1}^m \mu_j a_{k,j} \right) \\ &= \sum_{j=1}^m M_j \left(\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)a_{k,j} \right) \\ &\leq \sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)a_{k,j} \sum_{j=1}^m \mu_j \\ &= \lambda(l-\beta)(1-\alpha)\delta(p-2,q) \end{aligned}$$

From theorem 1, it follows that

$f(z) \in T_n^*(p, q; A, B, \lambda, \alpha, l, \beta)$ and so this completes the proof of theorem 5.

Corollary 5. The class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ is closed under convq linear combination

Proof :

Let the function $f_j(z)(j = 1,2)$ be given by (5.1) be in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$. It is sufficient to show that the function $f(z)$ defined by

$$f(z) = \mu f_1(z) + (1 - \mu)f_2(z)$$

is in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$. But , taking $m=2$, $c_1 = \mu$, $c_2 = 1 - \mu$ in theorem 5 , We have the corollary

Theorem 6. Let $f_{p+n-1}(z) = z^p$

and

$$f_k(z) = z^p - \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)} z^k, k \geq p+n$$

.....(6.1)

Then $f(z)$ is in the class $T_n^*(p, q; A, B, \lambda, \alpha, l, \beta)$ if and only if it can be expressed in the form

$$f(z) = \sum_{k=p+n-1}^{\infty} M_k f_k(z) \dots \dots \dots (6.2)$$

Where $\mu_k \geq 0$ and $\sum_{k=p+n-1}^{\infty} \mu_k = 1$

Proof :

Assume that

$$f(z) = \sum_{k=p+n-1}^{\infty} \mu_k f_k(z)$$

$$= z^p - \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)} \mu_k z^k \dots \dots (6.3)$$

Then it follows that

$$\sum_{k=p+n}^{\infty} \left(\frac{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} \right) * \left(\frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)} \mu_k z^k \right) \leq \sum_{k=p+n}^{\infty} \mu_k = (1 - \mu_{p+n-1}) \leq 1$$

Hence by theorem 1, we have

$$f(z) \in T_n^*(p, q; A, B, \lambda, \alpha, l, \beta).$$

Conversely , assume that the function $f(z)$ defined by (1.2) belongs to the class

$T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$, then

$$a_k \leq \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)} z^k$$

Setting

$$\mu_k = \frac{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} a_k$$

Where

$$\mu_{p+n-1} = 1 - \sum_{k=p+n}^{\infty} \mu_k$$

We can see that $f(z)$ can be expressed in the form (5.5), this completes the proof of theorem 6

Corollary 6.The extreme point of the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ are the function $f_p(z) = z^p$ and

$$f_k(z) = z^p - \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)]k(k-1)\delta(k-2,q)} z^k \quad k \geq p+n$$

6.Modified Hadamard products

Assume function $f_j(z)(j = 1,2)$ defined by (5.1) the Hadamard product of $f_1(z)$ and $f_2(z)$ is defined by

$$(f_1 * f_2)(z) = z^p - \sum_{k=p+n}^{\infty} a_{k,1} a_{k,2} z^k = (f_1 * f_2)(z) \dots (6.1)$$

Theorem 7.Let the function $f_j(z)(j = 1,2)$ defined by (5.1) be in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$, then $(f_1 * f_2)(z)$ be in the class $T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$, where

$$\sigma = 1 - \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)](p+1)(p+n-1)\delta(p+n-2,q)} \quad (n \in N) \dots (6.2)$$

The result is sharp for the function $f_j(z)(j = 1, 2)$ defined by

$$f_j(z) = z^p + \frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{\sum_{k=p+n}^{\infty} [A+B(l-\beta)](p+1)(p+n-1)\delta(p+n-2,q)} z^{p+q} (6.3)$$

Proof : Depending the technique used earlier by Schild and Silverman [7], we must to show the largest σ such that

$$\sum_{k=p+n}^{\infty} \frac{[A+B(l-\beta)]k(k-1)\delta(k-1,q)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} a_{k,1} a_{k,2} \leq 1 \dots \dots (6.4)$$

We have $f_j(z) \in T_n^*(p, q, A, B, \lambda, \alpha, l, \beta)$ ($j = 1,2$) then

$$\sum_{k=p+n}^{\infty} \frac{[A+B(l-\beta)]k(k-1)\delta(k-2,q)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} a_{k,1} \leq 1 \dots \dots (6.5)$$

and

$$\sum_{k=p+n}^{\infty} \frac{[A+B(l-\beta)]k(k-1)\delta(k-2,q)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} a_{k,2} \leq 1 \dots \dots (6.6)$$

By using Cauchy Scharz inequality , we have

$$\sum_{k=p+n}^{\infty} \frac{[A+B(l-\beta)]k(k-1)\delta(k-2,q)}{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)} \sqrt{a_{k,1} a_{k,2}} \leq 1 \dots \dots (6.7)$$

It is sufficient to show that

$$\frac{1}{1-\sigma} a_{k,1} a_{k,2} \leq \frac{1}{(1-\alpha)\sqrt{a_{k,1} a_{k,2}}} \dots \dots (6.8)$$

or

$$\sqrt{a_{k,1} a_{k,2}} \leq$$

$$\frac{1-\sigma}{1-\alpha} \dots \dots (6.9)$$

Hence in night of the inequality (6.9), it is sufficient to prove that

$$\frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \leq \frac{(1-\sigma)}{(1-\alpha)} \quad (k \geq p+n) \dots \dots (6.10)$$

From (6.10) we have

$$\sigma \leq 1 - \frac{\lambda(l-\beta)\delta(p-2,q)(1-\alpha)^2}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \dots \dots (6.11)$$

In the next , we defined the function $R(k)$ by

$$R(k) = 1 - \frac{\lambda(l-\beta)\delta(p-2,q)(1-\alpha)^2}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \dots \dots (6.12)$$

We note that $R(k)$ is an in creasing function of k ($k \geq p+n$), therefore , we caclud that

$$\sigma \leq R(p+n) = 1 - \frac{\lambda(l-\beta)\delta(p-2,q)(1-\alpha)^2}{[A+B(l-\beta)](p+n)(p+n-1)\delta(p+n-2,q)} \dots \dots (6.13)$$

The proof is completes

Putting $\beta = 1$ in Theorem 7, we obtain the following corollary.

Corollary 7. Let the functions $f_j(z)(j = 1,2)$ defined by (1.2) be in the class $T_n^*(p, q; A, B, \lambda, \alpha, l)$ Then where $\gamma = 1$

The result is sharp.

Corollary 8. For $f_1(z)$ and $f_2(z)$ as in Theorem 7, the function

$$h(z) = z - \sum_{k=2}^{\infty} \sqrt{a_{k,1} a_{k,2}} z^k$$

belongs to the class $T_n^*(p, q; A, B, \lambda, \alpha, l)$.

This result follows from the Cauchy-Schwarz inequality (6.7). It is sharp for the same functions as in Theorem 7.

Theorem 8. Let the functions $f_j(z)(j = 1,2)$ defined by (5.1) be in the class $T_n^*(p, q; A, B, \lambda, \alpha, l)$. Then the function

$$h(z) = z^p - \sum_{k=p+n}^{\infty} \sqrt{(a^2_{k,1} a^2_{k,2})} z^k \dots \dots (6.14)$$

belongs to the class $T_n^*(p, q; A, B, \lambda, \zeta, l, \beta)$, where

The result is sharp for the functions $f_j(z)(j = 1,2)$ defined by (6.3)

Proof. By virtue of Theorem 1, we obtain

$$\sum_{k=p+n}^{\infty} \left[\frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \right]^2 a^2_{k,1} \leq \sum_{k=p+n}^{\infty} \left[\frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \right]^2 a^2_{k,1} \leq 1 \dots (6.16)$$

and

$$\sum_{k=p+n}^{\infty} \left[\frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \right]^2 a^2_{k,2} \leq \sum_{k=p+n}^{\infty} \left[\frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \right]^2 a^2_{k,2} \leq 1 \dots (6.17)$$

It follows from (6.16) and (6.17) that

$$\sum_{k=p+n}^{\infty} \frac{1}{2} \left[\frac{\lambda(l-\beta)(1-\alpha)\delta(p-2,q)}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \right]^2 (a^2_{k,1} a^2_{k,2}) \leq 1$$

Therefore, we need to find the largest ζ such that

$$\frac{\lambda(l-\beta)\delta(p-2,q)(1-\zeta)}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \leq \frac{1}{2} \left[\frac{\lambda(l-\beta)\delta(p-2,q)(1-\alpha)}{[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \right]^2 \dots \dots (6.19)$$

that is, that

$$\zeta \geq 1 - \frac{\lambda(l-\beta)\delta(p-2,q)(1-\alpha)^2}{2[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \dots \dots (6.20)$$

since

and Theorem 8 follows at once.

$$D(k) = 1 - \frac{\lambda(l-\beta)\delta(p-2,q)(1-\alpha)^2}{2[A+B(l-\beta)]k(k-1)\delta(k-2,q)} \dots \dots (6.21)$$

is an increasing function of $k(k \geq p+n)$, we readily have

$$\zeta \geq D(p+n) = 1 - \frac{\lambda(l-\beta)\delta(p-2,q)(1-\alpha)^2}{2[A+B(l-\beta)](p+n)(p+n-1)\delta(p+n-2,q)} \dots (6.22)$$

References

1. M. K. Aouf, Certain classes of p-valent functions with negative coefficients II, Indian J. Pure Appl. Math., 19 (1988), 761 – 767.
2. V. P. Gupta, and P. K. Jain, Certain classes of univalent functions with negative coefficients II, Bull. Austr. Math. Soc. 14 (1976), 467 – 73.
3. G. P. Goyal and J. K. Prajapat, A new class of analytic p-valent functions with negative coefficients and fractional calculus operators, Tamsui Oxford Univ. J. Math. Sci., 20(2004), no.2, 175 – 186.
4. S. K. Lee, S. Owa and H. M. Srivastava, Basic properties and characterizations of a certain class of analytic functions with negative coefficients, Utilitas Math., 36(1989), 121 – 128.
5. S. Owa, On the distortion theorems. I, Kyungpook Math. J., 18 (1978), 53-59.
6. J. K. Prajapat and M. K. Aouf, Majorization problem for certain class of p-valently analytic function defined by generalized fractional differintegral operator, Comput. Math. Appl., 63(2012), no.1, 42 – 47. [7] A. Schild and H. Silverman, Convolutions of univalent functions with negative coefficients, Ann. Univ. Mariae-Curie Sklodowska Sect. A, 29(1975), 109 – 116.
7. T. M. Seoudy and M. K. Aouf, Subclasses of p-valent functions of bounded boundary rotation involving the generalized fractional differintegral operator, C. R. A. cad. Sci. Paris, Ser. I, 351(2013), 787 – 792.
8. H. M. Srivastava and S. Owa (Editors), Univalent Functions, Fractional Calculus and Their Applications, Halsted press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1989.
9. H. M. Srivastava, M. Saigo and S. Owa, A class of distortion theorems involving certain operators of fractional calculus, J. Math. Anal. Appl., 131 (1988), 412–420.